RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Amending Resolution No. 07-726, Approving San Lucy District FY 2008 Budget Amendment No. 1)

RESOLUTION NO. <u>08-376</u>

1	WHEREAS,	the Tohono O'odham Legislative Council requires the various districts of the nation
2		to seek approval on any and all budget changes prior to expenditure of district
3		funds; and
4	WHEREAS,	the San Lucy District Council Resolution Number SL 05-055-08 approved budget
5		amendments to the San Lucy District Council budget, San Lucy District
6	1	Administrative budget, and the San Lucy District Maintenance budget; the budget
7		amendments are to continue services to end of the fiscal year; to further complete
8		in stall at ion of fencing around the district's base ball field, and monies to cover costs
9		for repairing the district's library roof not cover by the insurance because of
ιο		deductible, and adding of additional funds to reroof community homes; and
l1	WHEREAS,	the San Lucy District Council have allocated \$21,139.87 from the remaining Gaming
ι2		Revenues and \$266,696.95 from Mining Royalties for a total of \$287,836.82 of new
13		monies to fund the budget amendments; and
14	WHEREAS,	the Tohono O'odham Legislative Council's Budget & Finance Committee reviewed
15		and agreed to forward the budget amendments to Tohono O'odham Legislative
16		Council for their consideration.
17	NOW, THERE	FORE, BE IT RESOLVED the Tohono O'odham Legislative Council hereby approves:
18		1. The San Lucy District Council Budget Amendment No. 1-increases the fiscal year
19		2008 Budget from \$282,395.18 to \$304,895.18 an increase of \$22,500.00.
20	l	2. The San Lucy District Administration Budget Amendment No. 1 - increases the
21		fiscal year 2008 Budget from \$1,411,339.48 to \$1,453,339.48 an increase of
22		\$42,000.00 .
23		3. San Lucy District Maintenance Budget Amendment No 1 - increases the fiscal
24		year 2008 Budget from \$411,085.98 to \$634,422.80 an increase of \$223,336.82.
25	BEITFURTH	ER RESOLVED that funds derived from Gaming Revenues in the amount of \$21,139.87
26		and Mining Royalties in the amount of \$266,696.95 totaling \$287,836.82 shall be the
27		sources to fund the additional requests.
28	BE IT FURTI	HER RESOLVED the San Lucy District's FY 2008 Budget is hereby increased from
29		Resolution No. 07-726 \$2,642,888.00to \$2,930,724.82 with an increase of \$287,836.82.
30	BE IT FINALL	Y RESOLVED the monies identified from Gaming Revenues and Mining Royalties shall
31		be wire-transfer to the San Lucy District General Account at National Bank of
32		Arizona, Gila Bend, Arizona.

	RESOLUTION NO. <u>08-376</u> (Amending Resolution No. 07-726, Approving San Lucy District FY 2008 Budget Amendment No. 1) Page 2 of 3
1 2 3 4 5 6 7 8	The foregoing Resolution was passed by the Tohono O'odham Legislative Council on the 26 TH . Day of JUNE, 2008 at a meeting at which a quorum was present with a vote of 2,335.3 FOR; -0- AGAINST -0- NOT VOTING; and 199.2[07] ABSENT, pursuant to the powers vested in the Council by Section 1 (d)(2) & (3) of Article VII of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
9	TOHONO O'ODHAM LEGISLATIVE COUNCIL
10	
11	Telicia Munic for
12	Verlon M. Jose, Legislative Chairpan
13 14	17 th July, 2008
15	
16	ATTEST:
17 18	Your Side
10 19	Lucille Lopez, Acting Legislative Secretary
20	
21 22	<u>26</u> day of <u>Junu</u> , 2008.
23 24 25 26	Said Resolution was submitted for approval to the office of the Chairman of the Tohono O'Odham Nation on the day of
27 28	TOHONO O'ODHAM LEGISLATIVE COUNCIL
29	
30	Fellevia Nuney for
31	
32 33	Verlon M. Jose, Legislative Chait nán
33 34	
35	
36 37	[V] APPROVED on the
38 39	[] DISAPPROVED at 1.4 o'clock, R.M.
40 41	Al DA
42	NED NORRIS, JR., CHAIRMAN
43	TOHONO O'ODHAM NATION
44 15	
45 46	
TU	

Returned to the Legislative Secretary on the H day of July , 2008 at U o'clock, p.M. Lincille Lopez, Acting Legislative Secretary Begin and the control of the Legislative Secretary Lincille Lopez, Acting Legislative Secretary Lincille Lopez, Actin
2 3 4 5 6 7 1 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
Lucille Lopez, Acting Legislative Secretary Lucille Lopez, Acting
Lucille Lopez, Acting Legislative Secretary Lucille Lopez, Acting
Lucille Lopez, Acting Legislative Secretary Lucille Lopez, Acting
Lucille Lopez, Acting Legislative Secretary Lucille Lopez, Acting
Incille Lopez, Acting Legislative Secretary Incille Lopez, Acting
8 9 10 11 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
11
12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 34 35 36 37
14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 31 32 33 34 35 36 37
18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
23 24 25 26 27 28 29 30 31 32 33 34 35 36 37
24 25 26 27 28 29 30 31 32 33 34 35 36 37
25 26 27 28 29 30 31 32 33 34 35 36 37
26 27 28 29 30 31 32 33 34 35 36 37
27 28 29 30 31 32 33 34 35 36 37
28 29 30 31 32 33 34 35 36 37
29 30 31 32 33 34 35 36 37
30 31 32 33 34 35 36 37
31 32 33 34 35 36 37
32 33 34 35 36 37
33 34 35 36 37
34 35 36 37
35 36 37
36 37
37
38
39
40
41
42
43
44
45
46
47

ACTION: AMENDING RESOLUTION NO. 07-726, APPROVING SAN LUCY DISTRICT FY 2008 BUDGET AMENDMENT NO. 1

MOVED: COUNCILWOMAN LORRAINE EILER

SECOND: COUNCILWOMAN KIMBERLY LISTO

DATE:

JUNE 20, 2008

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
BABOQUIVARI 316.9	FRANCES MIGUEL (Roberta Harvey) FRANCES G. ANTONE (Absent)	158.45	X			
21012	(Vernon Smith) (Present)	158.45	X			
CHUKUT KUK 264.8	1. ETHEL GARCIA	132.40	x			
204.6	2. VERLON M. JOSE ()	132.40	X			X
GU ACHI	1. TIMOTHY L. JOAQUIN (Louis L. Johnson)	113.95	Х			
227.9	2. CYNTHIA E. MANUEL	113.95	X			
GU VO	1. GRACE MANUEL	99.60				x
199.2	2. RAYMOND VICTOR	99.60				X
HICKIWAN	1. MICHELLE ORTEGA	86.00	x			
172.0	2. SANDRA ORTEGA	86.00	X			Х
PISINEMO	1. CHESTER ANTONE (Tony Murrietta)	91.20	x			
182.4	2. GERALD FAYUANT	91.20	X			Х
SAN LUCY	1. LORRAINE EILER	90.55	x			
181.1	2. GLORIA RAMIREZ	90.55	Х			Х
SAN XAVIER	1. FELICIA NUÑEZ (Adam P. Andrews)	98.25	x			x
196.5	2. OLIVIA VILLEGAS-LISTON (Eileen A. Estrada-Lopez)	98.25	Х			
	1. FRANCES B. CONDE (Fredrick Jose)	77.30	x			
154.6	2. PHYLLIS CACHORA (Agnes Joaquin)	77.30	x			
SELLS	1. KIMBERLY LISTO	222.35	х			
444.7	2. EVELYN B. JUAN MANUEL	222.35	X			
SIF OIDAK	1. WAVALENE SAUNDERS	97.20	X			
194.4	2. MARY LOPEZ	97.20	x			
	TOTAL	2,534.5	2,335.3	-0-	-0-	199.2 [07]

^{**}PASSED VOTES